)

® A+018IB=0

® A=01811B=0

)
H

® A=0181B+0

® A+018117 B£0



FE A2 IOl —ax—6a=02 2L I, a 9

[
= Ol
=N

@ 1 3 4

3 0



5 olAP A 2x% +mx-3 =0, X +x+n =09 F&F
W, m+nof F2?

D -11 ® -1 3 1 @ 8

o]

RIS

0H7]-x_ -

® 11



4. P tax+b=0NA A% a, b S A7) otel FAH1E AAA
ok A WA 42, 5 WA 55 b 2t g} o o, o] o]}

FgA ol S5 7= 9‘ =7

1__'_1 1

@ @ ®

N | =
Wl =



5. x(x-3) =02 (ax+b)? = g o B2 v HAE W, abg ©] TS
T-oh?



22 oA ax? 4+ 2bx + ¢ =0 (a#0)2 FE HFolth. ©
~ ®@of So1d Aol vt=2] ot A2? (&, b ~ac20)

ax®> +2bx+c=0(a #0)

2 C
X+ —x=—=
a a

2b
x2+—x+@:—£+®
a a

x+2)*=0
x=®+0®
2 9
@ l% @ b 3 b 2ac
a a a
b b2 —ac



A7tx=2Fx=-324 0, 3a+b

Ax®+ax+b=09

i

1%}

7.

ol

o



7t -2+ V5 2, 0 9

a3

O A x* +4x+a*-3a—5=10 9

8.



_ _ 1 1

ojAFH 7 4] x2—3x+12094%%%a,ﬁa}%*ﬂi,a+ﬁ,ﬁ+—
a

= F D22 5L, 2 o ATt 1 ]l oA 427

@ x*+6x-2=0 @ x*-6x+2=0

® x2+6x-4=0 @ x?-6x+4=0

B 2+6x-6=0



7F 3570

=
ST

2410

o, o

3

o

ol
1@0

1@0

1mo
mé



® 56 B 64 @ 72 B 80

A 48



12.

o u SISOl T 1449 o] o] Foin
Aol A Bobrbe g2l0] 47k A 84 41tk 7 o] Arka

3 goll Sopts 39 57

D 6H ® 94 ® 124#

@ 16¢

Cids g

St

=

G 24¢

rsk

l

’



13. olxbg y = —242 o] 27} A 3AHEH 919] A (a, 3q) = AT
o], 2a ©] gk27?

@ -3 ® 3 B -4 @ 4 G -2



14.

o2 283 Zol A (1, 5) & Ay Aol ZEM y = 27 LA 0]
old T & P, QoA gt} POQ =90° & i, 214 pPQ o] WA
Al09
1 .
yl\
Q
(1,5) /4
/
7/
/
/
/
7/
/
/‘l
/ |0 T
O y=x+4 @ y=2x+3 ® y=3x+2
1 9
@ y=4x+1 ®y=zx+=



ol W, == a, b, p ° F abp



16.

2
5

o]z} y=-a(x-p)?-q < 2H7}

O 19} 22 W, aq, p, ¢ J FIE2 YL

gre 7129

®a>0,p>0,g<0 @ a>0,p>0,g>0
®a>0 p<0,g>0 @ a<0, p=0,g<0

® a<0, p>0,g=0




-2(x+3)?-1

=0, © .@°H.

1

__OD

]_

o] x=0 ¢l 9]

of
N



@ 2

@D 6



19.

2+ 4dx—k O I}t x 23 A2 o2

U o] g el

@ k>-1 @ k< -2
® k>0

= Aol A



i

OlA et y = 22 — x4+ 7 2] 17

o =
K<)

j=1

20. o




Ay = ax? + bx+ ¢ 9 17t oh2 -0} 22 W, a,b,c 9
9

’yl\

A

@ a>0,b>0,c>0 @ a>0,b>0,c<0

® a>0,b<0,c<0 @ a<0,b>0,c>0

® a<0.b<0.c<0



oA Tl A (2,10) & Au=

@ y=-2(x+3)(x-1)

@ y=-2(x-3)(x-1)



sy —- (v 1) o AL

@D 3 ® 4 B -1

@ 0



o, M 9

ﬁE]”

y = —=2x> +dmx +m -1 9] HAZS M o]zt



25

. AArOA =
=25
(50¢ — 5£2)m o]q(?m ol HEom
. o] &9 4017}&0} =8 39

= 2] Ao 5 1 %0 =
ol
e

Aol &2z A %
Z ZQI7R? JomFH
2E 7t 5 A

-3

Q725
o o s ot ® 8

Rl
-{Olt



